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Instructions:

1. All Questions are Compulsory.

2. All Questions carry equal marks. I '2. DEC 20211

3. Figures to the right indicate full marks

? "akil.Clii)ose the Correct alternatives from the following. 15

1 Rapid Industrialization is required for solve ----------- problem in India.
A) Capital B) Unemployment C) Investment D) Productivity

mission has been started on 25th September, 2014 by the Government of India for the
‘Central Place of Production’ to India.

A) Make in India B) Start up India (C) Stand up India D) All of above

(V3]

Industrialization is an important means to solve the problem of

A) Poverty B) Unemployment C) Regional imbalances D) All of the above

4 First Industrial policy was declaredon .................. in India.

A) April 6, 1948 B) May 9, 1951 C) January 26,1950 D) August 15,1947
is the most popular insurance company in India.

A) Life Insurance Corporation B) Tata AIG C) Bajaj D) None of these
6 Unit Trust of India (UTI) is established in -----------

A) 1948 B) 1955 C) 1964 D) 1972

facility is important for production of goods and services.

A) Educational B) Transport C) Mobile D) Posts

8  Number of multinational companies increased in India after

S— ;;oiicy.
A) Economic B) Private C) Liberalization D) Global

parts of Structural Adjustment Programme in the process of liberalization.

A) Fiscal Reforms B) Privatizations C) Financial Reforms D) All of above

10 Liberalization is introduced in ----eeeee-.. policy in India after 1991.

A) Economic B) Social C) External D) None of these

[ I means to expand the economic activities out of the political borders of country.

A) Liberalization B) Globalization C) Privatization D) None of these
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in service exports

According to the WTO report 2021-22, India was ranked

A)8B)I0OC)I12D)7

I3 Agricultural crises is the effect of ==---------
A) Privatization. Liberalization. Globalization B) Abolish of (l”a'“im”vc restrictions C) Reduce
subsidies D) All of above

14 Agriculture is the largest ------------- sector business in India.
A) Government B) Cooperative C) Private D) Mixed

factors are responsible to Green Revolution in India.

[ J
A) Hybrid seeds B) Chemical factors C)Technology D)AIl of Above

Q.2.Write short Notes (Three out of Four). I5

I Agriculture Risk Management

2 Importance of Transport

3 lmportanc'e of Information Technology in India
.4 Goods and Service Tax T : :
AQ.S.\Vritc;i:o‘r.tvAnswe:-s (;l‘]n réc ol:lrtﬂoﬁf ﬁ):“m)w-—.‘. T —— S ————— s ”
I Explain the Causes of Green Revolution.

2 State the demerits of multinational corporation.

3 State the Importance of Insurance. 3
4 Discuss the positive impact of liberalization on Indian economy.

15

Q.4.. Answer the following question on broad. (One out of two).

Discuss the role of multinational corporation.

I
What is mean by Tourism Industry ? Describe the Importance of Tourism Industry of India

9
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